EAGRAROBREERT — 2 N— ABISH —F

202051 H8H (k) 10mE#:#E2H

m%*u LMELSHEN I /O -3I2 2 53R —f% \ (%] 8 \ (sl — | 4 (%) 12000 &
[A&4] 1 % :800,000 @ ~ 2 7 :312,000 A 337 :200,000 @ 4 3#&:120,000 5 7% :88,000 H
& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
S . 4 | FEAXRK 1:15.7 4-4-4  |39.1| — 4 416 | EMSE (fafE)
5|5 |2nsor—2 545 ) (o) |WARET
:7UF—v B:iyaviR WHE IE
o S JIBIEAER :15. = . — IIFH/z ()
N . BE = o |4 b | 22 [w7) - 2| s |uTRE
L:wy)gdyr B:7v—L AES
4 4 | RHES 1:15.8 3-3-3 39.6| — 1 475 | KATE (IA1E)
3|81 FIxTARI~ 5.5 (75%) 47) | REFE
RF—TTIVTLT Bia1xx55 HREH EVRI—F-RFLF
S A 44 | I3 1:16.0 1-1-1 39.9| — 3 446 | BT (R1B)
41111 JZhr 54.5 1) () | EAHEZ )
R:bhwHiO—)— BANMO—-7Iv7T RO RS
s ENFEDN :16. -10- . - BHBES (iaE)
s 7T -a A FL7: T B A S | Emwr
R:Tv TRy b BTN T 7Ty T 7Y s
LS55 5 | WBR 1:16.6 8-7-6 |39.7| — 7 493 | NIB= (@Fn)
cy4 P=7777 €8 (7€) Cry | ) 77— bEva>
L9727 24— BECR9NT o AR 74X
Sy = HEKE : -0 - EBEE (M)
712l vreFa-a it 6 s 1(.11/62.>7 6-9-10 | 39.3 9 (4_511) ;
L:ToTANIER BiAVJILT PR ¢l
— N FEEE : -8~ - Bk GaFn)
8 3| F7F—r KL i 5 i 1.(127).1 9-8-8 [ 39.9 1 ;1_3‘3 e
R:xA21z=Gr7— B:v—%FY-— EBRTF— L
9l7l 9| EVNIFt #o4 ?ESFS%E (1719771) 1-11-12 |39.3| — | 5 ;1524) %igi (#a5)
R:a4x v bV B:ULT>TILY RS
. st 4 | EIFHEAER 1:17.3 7-6-7 | 40.5| — 10 | 378 |EEE—FA (afH)
101811 TLF v > £52.5 ) (-4) |WUREF
L7 ReA ¥ L—> B:U—T1—Jy K 17 35
N t 6 | AHESE 1:17. -5- . — HHEE (IfE)
1156 | R—7N1% L2 o 754 555 | 40.6 6 <4+426) e
R:hnN=Z— B:Y—4—TLAI2R J=HrTp—L
YT KT B4 | WAEEE 1:17.5 12-12-11 [39.6 | — 12 | 437 |EBE1E ()
EH 7 LyYI2RH—=T 54.5 (1/2) (+6) ZHEEZ §
WA LA—L BATAI I RS
® I —F—@EBIERL
13—7—
23—+ — 1,2,12,5,6,10,11,4,3,8,9,7
30—7+— 1,2,12,5,6,11,4,3,10,8,9,7
A==k — 1,2,12,5,6,4,11,3,8,10,7,9
[ RN
B OB 5 1,100M 714K 2-5 380M e & 2-5 740M 3ER 2-5-12 1,540H
7 B 5 200/ 5-12 620M | | # B 5-2 2,110 | | 3EE 5-2-12 14,100
2 120 2-12 230M B E 2-5 1,160M
12 120M9 B H 5-2 3,170

ARICOVWTRDTEEERROODE. TR LI,




